R T A B DA R R SR

CERk224E4 H 47)
TH H i fy N pa L S S S S ¢
R R A IH TR A T2 # gk B A Hil &£
% Hidike s N6\ GaV) O U § o m(Bkg FA(Okg A/C% | A EEDkKe | A/D% Bt (ke B/E%

MARREMEZA A 8 1,379,390.0{ 8 1,379,390.0 8 1,379,390.0 1,631,491.0] 84.5 1,110,090.0{ 124.3 1,110,090.0 124.3
N AR PEZ A A 8 296,345.0( 8 296,345.0 8 296,345.0 306,340.01  96.7 213,280.0f 138.9 213,280.0 138.9
LK W M 72 A A () 3 1,201,271.0( 3 1,201,271.0 3 1,201,271.0 1,368,590.0{ 87.8 1,470,839.0{ 81.7 1,470,839.0 81.7

U ) 2 14,140.0] 2 14,140.0 2 14,140.0 14,140.0] 100.0 32,540.0] 43.5 32,540.0 43.5
MEHESRME D 7= A A (BE) 0 0.0] 0 0.0 0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

U ) 0 0.0] 0 0.0 0 0.0 37,160.0 0.0 43,440.0 0.0 43,440.0 0.0
SR T A A (F) 0 0.0 0.0 0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

U ) 0 0.0 0.0 0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

A EARAE A T A 0 0.0 0.0 0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

U (") 0 0.0 0.0 0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

a it 21 2,891,146.0( 21 2,891,146.01 21 2,891,146.0 3,357,721.01 86.1 2,870,189.0 100.7 2,870,189.0 100.7

(it AABMIRE W 2)




R T A B DA R R SR

CER224:5 H 47)
TH H i fy N pa L S SRS S ¢
R AT AE RN EES T B Gt Hif A i E
% Hdike ] BEAke [ o m(Bkg i (Ckg A/C% | A EEDkKe | A/D% Bt (ke B/E%

MARREMEZA A 4 1,354,260.0{ 4 1,354,260.0 12 2,733,650.0 1,379,390.0{ 98.2 1,500,044.0{ 90.3 2,610,134.0 104.7
N AR A A 8 194,965.0({ 8 194,965.0] 16 491,310.0 296,345.0/ 65.8 199,480.0 97.7 412,760.0 119.0
LK W 1 T2 A A () 2 1,397,384.0( 2 1,397,384.0 5 2,598,655.0 1,201,271.0] 116.3 1,444,602.0] 96.7 2,915,441.0 89.1

U ) 2 12,540.0] 2 12,540.0 4 26,680.0 14,140.0) 88.7 12,860.01 97.5 45,400.0 58.8
MEHESRME D 7= A A (BE) 0 0.0] 0 0.0 0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

U ) 0 0.0] 0 0.0 0 0.0 0.0 0.0 30,940.0 0.0 74,380.0 0.0
SR T A A (F) 0 0.0 0.0 0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

U (") 0 0.0 0.0 0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

A EARAE A T A 0 0.0 0.0 0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

U (") 0 0.0 0.0 0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

a &t 16 2,959,149.0( 16 2,959,149.01 37 5,850,295.0 2,891,146.0| 102.4 3,187,926.01 92.8 6,058,115.0 96.6

(it A ABIIBRE )




T T A B DR IR MR 2R

(CFRE2246 A 53)
H O H g 2 2 = U - S S S S~ ¢
5 4 TR AR A A FEE 2 Et Hi JE| HIT F
G2 ke G2 HE(Akg 5 & (Bkg 2 (Ckg A/C% | RIHEEDke | A/D% REt R Eke B/E%

W RRME Y M A A 4 1,268,818.0| 4 1,268,818.0] 16 4,002,468.0 1,354,260.0] 93.7 995,210.0f 127.5 3,605,344.0 111.0
N ZAMREW A A 8 272,515.0] 8 272,515.0] 24 763,825.0 194,965.0] 139.8 224,030.0] 121.6 636,790.0 119.9
R KA 7= A A (D) 2 1,158,759.0] 2 1,158,759.0 7 3,757,414.0 1,397,384.0] 82.9 1,313,128.0f 88.2 4,228,569.0 88.9

" ) 2 9,320.0[ 2 9,320.0 6 36,000.0 12,540.0] 74.3 28,480.0] 32.7 73,880.0 48.7
HRAHE AL 7= A 1 (HE) 0 0.0l 0 0.0 0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

" ) 0 0.0l 0 0.0 0 0.0 0.0 0.0 32,180.0 0.0 106,560.0 0.0
I M7= A () 0 0.0l 0 0.0 0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

4 ) 0 0.0l 0O 0.0 0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AR R T2 A 0 0.0l 0O 0.0 0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

4 ) 0 0.0l 0O 0.0 0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

& il 16 2,709,412.0] 16 2,709,412.0] 53 8,559,707.0 2,959,149.0] 91.6 2,593,028.0] 104.5 8,651,143.0 98.9

(il A ABYBRE =)




T T A B DR IR MR 2R

CERL224:7 H 47)
H A H # N = L N S S S - ¢
5 % A KA RIS EES T 2_Ek Hil b Al 4
faRs! H kg M HEAkg | H i (Bkg HE(Okg A/C% | [RAIH%#EDkeg | A/D% BEtHGE(E)ke B/E%

By KA P72 A B 8 1,081,170.0( 8 1,081,170.0] 24 5,083,638.0 1,268,818.0] 85.2 1,224,700.0f 88.3 4,830,044.0 105.3
N AMREH A A 8 266,825.0[ 8 266,825.0( 32 1,030,650.0 272,515.0/ 97.9 284,170.0f 93.9 920,960.0 111.9
i R R W PE 72 A A () 3 1,334,610.0( 3 1,334,610.0] 10 5,092,024.0 1,158,759.0] 115.2 1,462,754.0 91.2 5,691,323.0 89.5

U ) 2 10,360.0] 2 10,360.0 8 46,360.0 9,320.0f 111.2 19,360.0] 53.5 93,240.0 49.7
MEHERIE A PE = A 1 (§2) 0 0.0 0 0.0 0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

U ) 0 0.0 0 0.0 0 0.0 0.0 0.0 28,600.0 0.0 135,160.0 0.0
TR T A A (L) 0 0.0 0.0 0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

U () 0 0.0 0.0 0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AR AT A B 0 0.0 0.0 0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

U () 0 0.0 0.0 0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

= it 21 2,692,965.0| 21 2,692,965.01 74| 11,252,672.0 2,709,412.01  99.4 3,019,584.01 89.2 11,670,727.0 96.4

(il A ABYBRE =)




T T A B DR IR MR 2R

CER224-8 H 47)
H H g 2 2 = U - S S S S~ ¢
5 4 TR AR A A FEE 2 Et Hi JE| HIT F
G2 ke G2 HE(Akg 5 & (Bkg 2 (Ckg A/C% | RIHEEDke | A/D% REt R Eke B/E%

W RRME Y M A A 4 1,360,660.0) 4 1,360,660.0] 28 6,444,298.0 1,081,170.0] 125.9 1,133,190.0] 120.1 5,963,234.0 108.1
N ZAMREW A A 8 238,450.0] 8 238,450.0( 40 1,269,100.0 266,825.0) 89.4 259,140.0] 92.0 1,180,100.0 107.5
R KA 7= A A (D) 2 1,165,164.0] 2 1,165,164.0] 12 6,257,188.0 1,334,610.0] 87.3 1,248,250.0] 93.3 6,939,573.0 90.2

" ) 2 11,760.0) 2 11,760.0] 10 58,120.0 10,360.0] 113.5 21,240.0] 55.4 114,480.0 50.8
HRAHE AL 7= A 1 (HE) 0 0.0l 0 0.0 0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

" ) 0 0.0l 0 0.0 0 0.0 0.0 0.0 14,780.0 0.0 149,940.0 0.0
I M7= A () 0 0.0l 0 0.0 0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

4 ) 0 0.0l 0O 0.0 0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AR R T2 A 0 0.0l 0O 0.0 0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

4 ) 0 0.0l 0O 0.0 0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

& il 16 2,176,034.0] 16 2,776,034.0] 90| 14,028,706.0 2,692,965.0] 103.1 2,676,600.0] 103.7 14,347,327.0 97.8

(il A ABYBRE =)




T T A B DR IR MR 2R

CER229-9 4 47)
HoOH 1 # X % S S
. s A Bt A S B G i A il 2
- PR ke M BEAWKe || HREke BOROke | A/C% | FAABEDkKe | A/D% | BEHEEk B/E%
BIARIERIIETA B 4| 1,571,700.0( 4 1,571,700.0] 32 8,015,998.0]  1,360,660.0| 115.5|  1,299,550.0] 120.9 7,262,784.0 110.4
NTAMREIAECA B 7 259,695.0( 7 259,695.0| 47 1,528,795.0 238,450.0| 108.9 271,450.0]  95.7 1,451,550.0 105.3
e I 2 4] 1,314,210.0] 4 1,344,210.0] 16 7,601,398.0|  1,165,164.0] 115.4]  1,332,902.0] 100.8 8,272,475.0 91.9
! (#) 2 15,680.0] 2 15,680.0| 12 73,800.0 11,760.0| 133.3 24,200.0  64.8 138,680.0 53.2
e S 2 I 0.0[ 0 0.0l 0 0.0 0.0/ 0.0 0.0 0.0 0.0 0.0
! () 0 0.0 0 0.0/ 0 0.0 0.0/ 0.0 0.0/ 0.0 149,940.0 0.0
e 2 I 0.0 0.0, 0 0.0 0.0/ 0.0 0.0 0.0 0.0 0.0
! () 0 0.0 0.0/ 0 0.0 0.0/ 0.0 0.0 0.0 0.0 0.0
SRR RRET A P 0 0.0 0.0/ 0 0.0 0.0/ 0.0 0.0 0.0 0.0 0.0
! () 0 0.0 0.0/ 0 0.0 0.0/ 0.0 0.0 0.0 0.0 0.0
@ Gl 17| 3,191,285.0) 17|  3,191,285.0] 107 | 17,219,991.0]  2,776,034.0] 115.0]  2,928,102.0| 109.0 17,275,429.0 99.7

(il A ABYBRE =)




T T A B DR IR MR 2R

CER22410H 53)
H E| [ N N = L A SR S S - 4

. # TR A KA T A (A A 2 Eh Hif A Hi &

- 5 HiEkg 5 HE(Akg ¥ HEBkg HE(Okg A/C% | RA#EDkKs | A/D% REHEEEks B/E%
MARMEY A B 7 1,640,394.0( 7 1,640,394.0{ 39 9,656,392.0 1,571,700.0| 104.4 1,234,622.0{ 132.9 8,497,406.0 113.6
N AMREH A A 8 270,520.0( 8 270,520.0{ 55 1,799,315.0 259,695.0{ 104.2 382,210.0 70.8 1,833,760.0 98.1
bR A 4 PE 72 A B (62 3 1,460,112.0] 3 1,460,112.0] 19 9,061,510.0 1,344,210.0| 108.6 1,574,038.0] 92.8 9,846,513.0 92.0

n () 2 14,840.0) 2 14,840.0) 14 88,640.0 15,680.0/ 94.6 27,400.0 54.2 166,080.0 53.4
MEHERIE AL A 1 (§2) 0 0.0] 0 0.0l 0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
n ) 0 0.0 0 0.0 0 0.0 0.0 0.0 25,920.0 0.0 175,860.0 0.0

FAERE A A (L) 0 0.0 0.0l 0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
n ) 0 0.0 0.0l 0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

AR AT A B 0 0.0 0.0l 0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
n ) 0 0.0 0.0l 0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

& i 20 3,385,866.0( 20 3,385,866.0] 127 20,605,857.0 3,191,285.0] 106.1 3,244,190.0{ 104.4 20,519,619.0 100.4

(il A ABYBRE =)




T T A B DR IR MR 2R

(CFRR224E11 A 47)
H H g 2 2 = U - S S S S~ ¢
. 4 TR AR A A FEE 2 Et Hi JE| HIT F

- G2 ke G2 HE(Akg 5 & (Bkg 2 (Ckg A/C% | RIHEEDke | A/D% REt R Eke B/E%
W RRME Y M A A 5 1,587,020.0] 5 1,587,020.0| 44 11,243,412.0 1,640,394.0] 96.7 1,323,116.0f 119.9 9,820,522.0 114.5
N ZAMREW A A 8 226,520.0| 8 226,520.0] 63 2,025,835.0 270,520.0] 83.7 317,000.0) 71.5 2,150,760.0 94.2
R KA 7= A A (D) 2 1,639,997.0] 2 1,639,997.0] 21 10,701,507.0 1,460,112.0] 112.3 1,355,202.0f 121.0 11,201,715.0 95.5
" ) 2 16,540.0] 2 16,540.0] 16 105,180.0 14,840.0] 111.5 21,820.0] 75.8 187,900.0 56.0
HRAHE AL 7= A 1 (HE) 0 0.0 0 0.0 O 0.0 0.0 0.0 0.0 0.0 0.0 0.0
" ) 0 0.0 0 0.0 O 0.0 0.0 0.0 18,060.0 0.0 193,920.0 0.0
I M7= A () 0 0.0 0 0.0 O 0.0 0.0 0.0 0.0 0.0 0.0 0.0
4 ) 0 0.0 0 0.0 O 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AR R T2 A 0 0.0 0 0.0 O 0.0 0.0 0.0 0.0 0.0 0.0 0.0
4 ) 0 0.0 0 0.0 O 0.0 0.0 0.0 0.0 0.0 0.0 0.0
& il 17 3,470,077.0] 17 3,470,077.0| 144 24,075,934.0 3,385,866.0] 102.5 3,035,198.0] 114.3 23,554,817.0 102.2

(il A ABYBRE =)




T T A B DR IR MR 2R

CER224:12H 53)
H E| [ N N = L A SR S S - 4
o # TR A KA T A (A A 2 Eh Hif A Hi &
5 HiEkg 5 HE(Akg ¥ HEBkg HE(Okg A/C% | RA#EDkKs | A/D% REHEEEks B/E%

AR YPEZ AL A 4 1,377,061.0( 4 1,377,061.0] 48 12,620,473.0 1,587,020.0/ 86.8 1,313,690.0{ 104.8 11,134,212.0 113.3
N AMREH A A 8 277,200.0( 8 277,200.0( 71 2,303,035.0 226,5620.0] 122.4 277,610.00  99.9 2,428,370.0 94.8
i R R W PE 72 A A () 1,529,437.0 1,529,437.0] 25 12,230,944.0 1,639,997.0] 93.3 1,478,326.0] 103.5 12,680,041.0 96.5

U () 1 9,280.0] 1 9,280.0( 17 114,460.0 16,540.0 56.1 10,820.0) 85.8 198,720.0 57.6
MEHERIE A PE = A 1 (§2) 0 0.0] 0 0.0l 0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

U () 0 0.0 0 0.0 0 0.0 0.0 0.0 18,320.0 0.0 212,240.0 0.0
TR T A A (L) 0 0.0] 0 0.0l 0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

U (") 0 0.0] 0 0.0l 0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AR AT A B 0 0.0] 0 0.0l 0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

U (") 0 0.0] 0 0.0l 0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

& it 17 3,192,978.0 17 3,192,978.0] 161 27,268,912.0 3,470,077.01  92.0 3,098,766.0{ 103.0 26,653,583.0 102.3

(il A ABYBRE =)




T T A B DR IR MR 2R

CER234%E1H4y)
H H 3 # o 4 1 i @ g R SR S S -
P A IR B il A il G
s H kg s $fkkg 3% R Bkg B (Okg | A/C% | FA%EDkKg | A/D% | HEHEEEkKg B/E%

¥y KR A P 7 A 8 1,289,440.0| 8 1,289,440.0| 56 | 13,909,913.0|  1,377,061.0| 93.6]  1,302,356.0] 99.0 12,436,568.0 111.8
N ARREEEAA | T 237,270.0| 7 237,270.0| 78 2,540,305.0 277,200.0|  85.6 229,905.0| 103.2 2,658,275.0 95.6
KR A 4 HE 72 A1 (8 3 1,242,705.0| 3 1,242,705.0] 28 | 13,473,649.0|  1,529,437.0| 81.3|  1,355,240.0| 91.7 14,035,281.0 96.0
y D) 1 10,120.0{ 1 10,120.0| 18 124,580.0 9,280.0 109.1 11,520.0| 87.8 210,240.0 59.3
BRI P A 1 () 0 0.0/ 0 0.0/ 0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
y D) 0 0.0/ 0 0.0/ 0 0.0 0.0 0.0 2,400.0/ 0.0 214,640.0 0.0
SRR A E1 (#E) 0 0.0/ 0 0.0/ 0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
y ) 0 0.0/ 0 0.0/ 0 0.0 0.0 0.0 0.0l 0.0 0.0 0.0
TR DA 72 A 0 0.0/ 0 0.0/ 0 0.0 0.0 0.0 0.0l 0.0 0.0 0.0
y ) 0 0.0/ 0 0.0/ 0 0.0 0.0 0.0 0.0l 0.0 0.0 0.0
& 3t 19|  2,779,535.0] 19 2,779,535.0] 180 | 30,048,447.0]  3,192,978.0] 87.1]  2,901,421.0] 95.8 29,555,004.0 101.7

(il A ABBRE =)




CFER2 3422 143)

REYIMET- A B ORBAHR B IRIE i

=)

JIH

H Ui # Ea T # ¢ & Xt 24
TR A RIS EES T 2 al Hi J1 il G

th * 5 kg FE5) B (A) kg % B (B) kg Ha (O kg A/C% | MA¥EDke | A/D% e (B) kg B/E%

By KRRt 7= A A 4 1,354, 680.0| 4 1, 354, 680. 60 | 15,264, 593.0[ 1,289, 440. 105.1] 1,417,030.0] 95.6 13, 853, 598. 0 110.2
A MR AN S 234,340.0] 8 234, 340. 86 2,774,645.0 237, 270. 98.8 218,790.0] 107.1 2,877,065.0 96. 4
Rk i 72 A () | 2 1,161,497. 0] 2 1, 161, 497. 30 | 14,635,146.0[ 1,242, 705. 93.5| 1,205,979.0] 96.3 15, 241, 260. 0 96. 0
U ) | 2 15, 060. 0 2 15, 060. 20 139, 640. 0 10, 120. 148. 8 8,500. 0] 177.2 218, 740.0 63. 8

AR M= A (62) 0 0.0] 0 0. 0 0.0 0. 0.0 0.0 0.0 0.0 0.0

U @ 10 0.0] 0 0. 0 0.0 0. 0.0 0.0 0.0 214, 640.0 0.0
FEIE P A () 0 0. 0. 0 0.0 0. 0.0 0.0 0.0 0.0 0.0

U @ 10 0. 0. 0 0.0 0. 0.0 0.0 0.0 0.0 0.0
A RERAE AR M 72 A B 0 0. 0. 0 0.0 0. 0.0 0.0 0.0 0.0 0.0

l @ 10 0. 0. 0 0.0 0. 0.0 0.0 0.0 0.0 0.0
= i [ 16| 2,765,577.0] 16 2,765,577.0] 196 | 32,814,024.0] 2,779, 535. 99.5] 2,850,299.0{ 97.0 32, 405, 303. 0 101.3

(il A ABYBRE =)




CFR 2 3423 H43)

REYIMET- A B ORBAHR B IRIE i

1

. ‘ f # % N S S S R
B S L i i i e

A feal  mmke  ew| wEWke |0 | BE@K | BEOk | A/C% | AABEOK | M0% | BEEEEK | B/E%

7 N N ./ S RV | 4 1,464,810.0( 4 1, 464, 810. 64 | 16,729,403.0| 1,354,680.0| 108.1| 1,631,491.0] 89.8 15, 485, 089. 0 108.0
o A PR AH S8 311,260.0{ 8 311, 260.0[ 94 3, 085, 905. 0 234,340.0( 132.8 306, 340. 0| 101.6 3,183,405.0 96. 9
VAR N7/ A e VI S IR G AN B 1,336,819.0( 4 1, 336, 819. 34 | 15,971,965.0] 1,161,497.0| 115.1| 1,368,590.0] 97.7 16, 609, 850. 0 96. 2
U @) |1 10,520.0[ 1 10, 520. 21 150, 160. 0 15,060.0] 69.9 14,140.0{ 74.4 232,880.0 64. 5

iR A8 (W) 0 0.0[ 0 0. 0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

U @ 10 0.0[ 0 0. 0 0.0 0.0 0.0 37,160. 0 0.0 251,800.0 0.0
AtETE - A E () 0 0. 0. 0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

U @ 10 0. 0. 0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AR URARAE R AE - A B 0 0. 0. 0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

U @ 10 0. 0. 0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= 117 3,123,409.0] 17 3,123, 409. 0] 213 | 35,937,433.0] 2,765,577.0[ 112.9| 3,357,721.0] 93.0 35,763, 024. 0 100.5

(il A ABYBRE =)




